Calculus Assignment # 2

Evaluate each of the following mtegrals please.

(1) j sin(3x) dx

@) j cos(2x + 4) dx
3) j sec” (5x — 1) dx
@ [ sec(2x) tan(2x) dx

(5) .. csc(x + %) cot(x + E) dx
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@ | x sin(2x2) dx

) ) co\j_\/; dx
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(10) : (2 sin(3x) cos(3x)) dx
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(12) .' [sin(5x) cos” (5x)) dx
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cos” (2y) dy

sinz(%) dx

(1 ¥ sin2(3t))cos(3t) dt

2 + sin(5t) cos(5t) dt

.. [sec(x)(sec(x) + tan(x))] dx
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[ sin(2t)
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_1
Jcos(3x) + C

Lsin(2x + 4) + C

%tan(Sx - 1)+ C

1
Esec(Zx) + C

—csc(x + %) + C
—%cot(Zx -3)+ C

—%005(2){2) + C

2sin(\/;) + C

3 S
—scos(5t) — 3sin(2t) + C

.2
%sm (3x) + C

. 3
%sm (2x) + C

4
—%Ocos (5x) + C

%tan(ZG) + C

2
itan (26) + C

—cot(0) + C
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_ 1 o2
5ot (56) + C
%y + %sin(4y) + C
%x — %sin(x) + C
1. 1 3
3sin(3t) — gsin”(3t) + C
3
(2 +sin(51))2 + C

tan(x) + sec(x) + C
1...3 1 3
3sin”(x) — 3cos”(x) + C

\/2 — cos(2t) + C

1 —
Stan(7x) - x + C

3 4(2_x)
8tan 3 + C

.5
%sm (x)+ C

%sins(x) — %sin7(x) + C

—%COS(4X) + 50033(4x) + C

%x — ziosin(le) + C

—2 csc(\/;) + C



